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	Q.1
	The minimum value of input up to which instrument does not shows reading is known as

	Option: a
	Threshold

	Option: b
	Hysteresis

	Option: c
	Linearity

	Option: d
	Sensitivity

	
	

	Q.2 
	If system shows different input- output characteristics during loading and unloading, it is known as

	Option: a
	Threshold

	Option: b
	Hysteresis

	Option: c
	Linearity

	Option: d
	Sensitivity

	
	

	Q.3
	Piezoelectric transducer is ……..type of instrument

	Option: a
	Passive

	Option: b
	Manual

	Option: c
	Active

	Option: d
	Can’t say

	
	

	Q.4
	If the true value is 100 unit and measured value is 98 unit  then percentage of error will be

	Option: a
	0.02

	Option: b
	0.2

	Option: c
	2

	Option: d
	0.002

	
	

	Q.5 
	The materials used for thermocouple is

	Option: a
	Asbestos-Nickel

	Option: b
	Iron-Asbestos

	Option: c
	Asbestos-Wood

	Option: d
	Iron-constantan

	
	

	Q.6
	If the transfer function of system is given by, G(s)H(s)=( 120 ÷(s+2)(s+10)), then number of poles are

	Option: a
	0

	Option: b
	1

	Option: c
	2

	Option: d
	3

	
	

	Q.7
	The measurement of temperature with thermometer is

	Option: a
	Direct comparison

	Option: b
	Indirect comparison

	Option: c
	Tertiary measurement

	Option: d
	Secondary comparison

	
	

	Q.8
	In thermistor resistance change and temperature is

	Option: a
	Inversely proportional

	Option: b
	Directly proportional

	Option: c
	Does not depend

	Option: d
	Can’t say

	
	

	Q.9
	Which of the following is undesirable characteristics of an instrument

	Option: a
	Linearity

	Option: b
	Sensitivity

	Option: c
	Hysterisis

	Option: d
	Repeatability

	
	

	Q.10
	In Bode plot, if GM is positive and PM is negative then system is said to be

	Option: a
	Unstable

	Option: b
	Stable

	Option: c
	Marginally stable

	Option: d
	Can’t predict

	
	

	Q.11
	If the input changes, then how quickly Output changes is represented by which characteristics

	Option: a
	Precision

	Option: b
	Sensitivity

	Option: c
	Accuracy

	Option: d
	Hysteresis

	
	

	Q.12
	In LVDT change in displacement will produce

	Option: a
	Capacitance change

	Option: b
	Resistance change

	Option: c
	Length change

	Option: d
	Inductance change

	
	

	Q.13
	In LVDT the output shown on voltmeter is zero then the position of core is at

	Option: a
	Null Position

	Option: b
	Core is at RHS

	Option: c
	Core is at LHS

	Option: d
	Can’t say

	
	

	Q.14
	Vibration reed  tachometer is used for measurement of

	Option: a
	Distance

	Option: b
	Angular velocity

	Option: c
	Acceleration

	Option: d
	Vibration

	
	

	Q.15
	Which of the following is not acceleration/vibration measuring instrument

	Option: a
	Piezoelectric accelerometer

	Option: b
	Seismic Accelerometer

	Option: c
	Dynamic Accelerometer

	Option: d
	Strain gauge Accelerometer

	
	

	Q.16
	Which of the following is not a temperature compensation method

	Option: a
	Dummy gauge 

	Option: b
	Series compensation

	Option: c
	Self compensation

	Option: d
	Poisson's method

	
	

	Q.17
	The RVDT is used for measurement of

	Option: a
	Linear displacement

	Option: b
	Angular displacement

	Option: c
	Pressure

	Option: d
	Speed

	
	

	Q.18
	Bridgeman Pressure gauge is used to measure

	Option: a
	High pressure

	Option: b
	Low pressure

	Option: c
	Vaccum 

	Option: d
	Medium pressure

	
	

	Q.19
	Which of the following instrument provides  obstruction to flow  

	Option: a
	MPU

	Option: b
	Ultrasonic flow meter

	Option: c
	Rotameter

	Option: d
	Turbine Meter

	
	

	Q.20
	Pyrometers are used to measure 

	Option: a
	Temperature

	Option: b
	Pressure

	Option: c
	Density

	Option: d
	Flow

	
	

	Q.21
	In Bourdons pressure gauge instrument, which element is primary sensing element

	Option: a
	Sector

	Option: b
	Pointer and scale

	Option: c
	C tube

	Option: d
	Pinion

	
	

	Q.22
	The ceiling fan is example of

	Option: a
	Open loop

	Option: b
	Close loop

	Option: c
	Feedback

	Option: d
	Feedforward

	
	

	Q.23
	If the transfer function of system is given by, G(s)H(s)=( 120 ÷(s+2)(s+10)), then type of system is

	Option: a
	Type three

	Option: b
	Type one

	Option: c
	Type two

	Option: d
	Type zero

	
	

	Q.24
	How to find number of asymptote in Root locus method

	Option: a
	No. Of poles- no of zeros

	Option: b
	No. Of poles + no of zeros

	Option: c
	No of poles × no of zeros

	Option: d
	No of poles ÷ no of zeros

	
	

	Q.25
	If roots are imaginary and repeated in special case of Rouths array then system is

	Option: a
	Marginally stable

	Option: b
	Stable 

	Option: c
	Can’t predict

	Option: d
	Unstable

	
	





